
Saw Trax Mfg., Inc.  |  1-800- SAW TRAX  |  770-974-0021 |   info@sawtrax.com 

Full Size Wall Mount Kit

These plans are for wall mounting your vertical panel saw. You will need to provide four  2x4 boards, each 48”
long. The mounting brackets, screws and a single nut driver are included in this accessory package. If you have a 
folding stand on your unit it will need to be removed.

Contents: 
Qty 8 Mounting Brackets
Qty 8 1/4“ x 3/4” self tapping screws
Qty 1 Nut Driver

Installation: 

1. Read through the entire instructions to understand what you need to do.

2. Select your location where the saw will be mounted. The 2x4’s will be mounted horizontally to the wall into at least two wall studs 
per 2x4. The brackets attach the saw to the 2x4’s.  When selecting the location consider your workspace not just the unit’s width. For 
example, if you typically rip cut 4x8 sheets you will need at least 8.5 feet of working space on each side of the cutting blade for a total 
of 17 feet of wall space. More space would be required for larger sheets.

3. Using the 1/4” x 3/4” self tapping screws, attach the wall mounting brackets to the two outermost vertical tubes just below the top 
and bottom horizontal tubes as illustrated.

4. With the panel saw upright measure the hieght of the TOP horizontal bar  from the ground and add 1” to this measurement. Measure 
the height of the BOTTOM horizontal bar from the ground and add 1” to this measurement.

5. Locate the studs in the wall where you will be mounting your saw.

6. Using the measurements in Step 4, mark the height of the placement  of each of the wall studs. You will place two studs per side 
as illustrated.

7. Secure the 2x4’s to the wall just under your measurement marks using the 4” screws. Make sure the 2x4’s are level and the screws are 
mounted into the wall studs.

8. Position your machine with the brackets attached against the 2x4’s on the wall. Use the nut driver and the 8 mounting screws to 
screw the brackets to the 2x4’s.

9. When �nished, pull on the machine to ensure the machine is secure and will not come o� the wall.

Qty 16 1/4” x 1 1/2“ bolts for bracket
Qty 16 1/4” x 4” Self Tapping screws for stud

2x4’s2x4’s

Mounting 
Brackets

Mounting 
Brackets


